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E5 Al 6,770,200 3,381,000 3,389,200
St 6,770,200 3,381,000 3,389,200
200 M2l =< 1,623,200 0 1,623,200
220 SAIE A2l == 1,623,200 1,623,200
222 2g= 1,623,200 0 1,623,200
222-02 LR Y =3 1,623,200 0 1,623,200
OHIISHMeAE &XHE 23 811,600,000& = 23l 1,623,200
500 X3 3,060,000 1,768,000 1,292,000
510 2 1E2X=S 1,936,000 1,360,000 576,000
511 2 0E8L3S 1,936,000 1,360,000 576,000
511-01 | UEX=3 1,936,000 1,360,000 576,000
OMEBHIIZ MM L HUXS A
1,936,000,000& * 14! 1,936,000
520 Al - EHIEXS S 1,124,000 408,000 716,000
521 Al - EHIEEXZSS 1,124,000 408,000 716,000
521-01 Al - EHIE XSS 1,124,000 408,000 716,000
OMEHIIZ MHel L oIUX & A
1,124,000,000& * 1Al 1,124,000
700 28 +=ASHUHENN 2,087,000 1,613,000 474,000
720 LA H e 2,087,000 1,613,000 474,000
721 M3 2,087,000 1,613,000 474,000
721-03 JIEISI AN L 2 2,087,000 1,613,000 474,000
OgEsH 8= 2,087,000
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HAD 6,770,200 3,381,000 3,389,200
= 1,936,000
< 1,124,000
Al 3,710,200
HIIZS M2 AIEAILESSIAH 2 5,147,000 3,381,000 1,766,000
= 1,936,000
< 1,124,000
Al 2,087,000
HIOIS2M2AEAMLEESH 2I(HIISH2ANEAS 5,147,000 3,381,000 1,766,000
SE83)
= 1,936,000
< 1,124,000
Al 2,087,000
dHelAlE &X 5,147,000 3,381,000 1,766,000
= 1,936,000
< 1,124,000
Al 2,087,000
202 oddl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
O&XMelAlE HRF=& Ol 5,000
403 A X EHHS 20l A 5,142,000 3,371,800 1,770,200
= 1,936,000
< 1,124,000
Al 2,082,000
02 SJ| 2SO0l CH 8HCH & AF & HI 5,142,000 3,371,800 1,770,200
OMdatHII2 el ¥ XA 5,142,000
= 1,936,000
< 1,124,000
Al 2,082,000
Heas(HAam) 1,623,200 0 1,623,200
HEHAHXS(HIISH2AANEAMLELESIA) 1,623,200 0 1,623,200
HEHAXE(HIISHAAEMLELS H) 1,623,200 0 1,623,200
701 JIEtl AN ES 1,623,200 0 1,623,200
01 JIEtSI HEES 1,623,200 0 1,623,200
OLEs A MES 1,623,200




